| 2 | 3 | 4 S | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED A
BOM LIST A |NEW RELEASE LJH 08/13/05 v LJC 08/13/05’
| ITEM | PART NAME Qty NOTES C | s sl YCH 07/18/08' Ny LJC 07/18/08"
—n — 1 PLASTIC HOOD | 2 | SEE P/N D[4 tuis YCH 05/20/10’ A LJC 05/20/10’
o 2|2,\ LONG BOLT 2 #4-40 E | Sou31 20 85] M3*10 YCH 08/30/10’ Y LJC 08/30/10°
] ~ [22] sHORT BoLT 2 #4-40 F_|ADD P/N CODE LC 12/24/13 Ny LIC 12/24/13
| 3 NUT 3 M3 H ADD LOGO JLZ 12/17/14 ~
4 LONG SCREW 2 M3 B
10 5 NOTES:
24.99 5 SMALL WASHE| 1. Hardwares are all Nickel plated.
6 SHORT SCREW 2 M3 2. PART NUMBER CODE:
DS1045 — 09 X X X X X — X —
7 METAL WASHER .| 2 [ M3 9 XX XX
LHood Materials @
30.8 A:
12.0 B: Similar ABS
1 C
| Washer type
T 1: Metal
Bolt type I~
L: Long
S: Short
\ Packing type
® 1 Mi‘x pc)(/:king D
ol i) 2: Separation packing
a 8 Q: Full packing
H S Cover Material
P: Plastic(ABS) -
E 1 T Cover Color
N A: Gray
B: Black
V: Ivory
Positior} E
SHORT SCREW 2 . 09: 9pin
2 70
Y UNC#4-40 M3 3
A L
70 4-40 UNC 8 g @ =
of = z e
g gl o g 5.40
|
! @ \ s P Y Y _%_ Short BOLT NUT  t=2.3mm |F
T\ | ; 1S M5 s 4 S
1 ' |.6.6 | 4 wo vV &
f 135 % L
J 30.5 (mpp— o
) 44
g] * Long BOLT LONG SCREW G
i | SMALL WASHER
o M3 GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION | @ -EF TITLE | D-SUB Plastic Hood 180°
7 X £0.60 X +5 UNITS mm 9 Positions |
X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
XX +0.25 XX £2 = A
DRAWING TYPE [COSTOMER | =3 ;,‘H EE‘ % ﬁ IZE /Z_\\ E{j
SCAL 1:1_[sHeer |1 oF 1 « CONNFLY ELECTRONIC CO., LTD |
DRAWING NO. |C—DS1045—09XXXXX—X—H| SOMNFLY -
T 2 T 3 T 4 [ 5 6 I 7 T 8
! 2 | 3 | 4 | 5 | 6 | 7 | 8
il REV. DESCRIPTION DRAWN CHECKED APPROVED A
: A | NEW RELEASE LJH 05/18/05' ~ LJC 05/18/05’
ITEM_{ PART NAME Qty DOTES C | semuuplmige ) YCH 07/18/08' ~ LJC 07/18/08"
! PLASTIC HOOD |~ 2 | SEE B/N D | iiWAREREASE YCH 05/20/10’ ~ LJC 05/20/10°
2 |21 LONGIBOLT 2 #4-40 E [ADD P/N CODE LIC 12/24/13 ~ LIC 12/24/13
2.2| SHORT BOLT 2 #4—40 G ADD LOGO JZ 12/17/14' ~
3 NUT 2 M3 NOTES:
4 LONG SCREW 2 M3 1. Hordwares are all Nickel plated. B
2. PART NUMBER CODE:
5 SMALL WASHER | 2 01045 ~ 15 XX X X X - X
6 SHORT SCREW 2 M3 Hood Natercls ®
¥ METAL WASHER 2 M3 8: Similar ABS —
Washer type
1: Metal
Cc
Bolt type
L: Long
S: Short
Packing type
1: Mix packing —
2: Separation packing
Q: Full packing
Cover Material
137 P: Plastic(ABS)
: Cover Color D
1.0 A: Gray
UNCH4-40 B: Black
V: Ivor
Positi
S —- 125 I%r;‘;in ||
Short BOLT
E
2 \
4-40 UNC I~
) ") @
d o
9.9 1-3 \ yan\ LONG: SCREW NUT  t=2.3mm
MTJT T e 4 F
: 6.6 )
L : J 135 § 4 6 77 5
T 305 M 29 & L
w \ o
Long BOLT D o
‘ G
SHORT SCREW SMALL WASHER
GENERAL TOLERANCE[ ANGLE TOLERANCE [PROJECTION [ @--EF [TITLE | D-SUB Plastic Hood 180°
X. £0.60 X. +5 UNITS mm 15 Positions |
X +0.38 X x3 SHEET_SIZE A4 | SERIES [ DS1045 SERIES
XX £0.25 XX £2 ——
DRAWING TYPE[COSTOMER Jie ;f,ﬂ EE ? ﬁ BE /L\\ ﬁ‘l
ScaLt 1:1_[SHEET [1 OF 1 o CONNFLY ELECTRONIC €O., LTD |
DRAWING NO. [C—DS1045— 15XXXxX—x—G| CONNFLY "
I 2 I 3 I 4 [ 5 6 I 7 I 8




1 | 2 | 3 | 4 S | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM™LIST A |NEW RELEASE LJH 10/26/05 ~ LJC 10/26/05"
ITEM | PART NAME Q'ty NOTES C | ik YCH 07/18/08' ~ LJC 07/18/08"
54.0 ) 1 PLASTIC HOOD | 2 | SEE P/N S YCH 05/20/10 ~ LJC 05/20/10
— , [21] LonG BoLT 2 [ #4-20 E |ADD P/N CODE LIC 12/24/13 ~ LIC 12/24/13
- [2.2] sHorT BOLT 2 | #4-40 G |ADD LOGO JZ 12/17/14' ~
‘ 11 3 NUT 2 | M3
I | 4 LONG SCREW 2 M3 o
! ! 1. Hardwares are all Nickel plated.
w 5 SMALL WASHER 2 2. PART NUMBER CODE:
DS1045 - 25 XXX =X
6 SHORT SCREW 2 M3 T Hood Materials ®
| 7 METAL WASHER | 2 [ M3 2—\ . & Simitor Ags
1.0 Washer type
L UNC#4-40 1: Metal
8.0 (1
_"A"_H_‘ Bolt type
J (£
f 1 - S Shon
Packing type
Short BOLT 1: Mix packing

2: Separation packing
Q: Full packing

Cover Material

P: Plastic(ABS)
3 L Cover Color

6.1

NUT  t=2.3mm

40.8 LONG SCREW
4.8 _,
5
4-40 UNC
2, o
é % 4 b
L., o
) 4,
66 ﬁ .
I | . 135 - 3 SMALL WASHER
— 02 6
44 N\ 2
Long BOLT M3 \s.g

% -y
9 L

SHORT SCREW

GENERAL TOLERANCE ANGLE TOLERANCE | PROJECTION | @€ [TILE] D-SUB Plactic Hood 180°
X +0.60 X +5 UNITS mm 25 Positions
X +0.38 X %3 SHEET SIZE A4 | SERIES | DS1045 SERIES
XX £0.25 XX £2
N
DRAWING TYPE|COSTOMER @ % ﬁﬁ EE ? ﬁ‘ IKE //_\\ Efj
SCALE 11 [SHEET [1 OF 1 H
ORAWING 10 E=DST035—250000(—%—dl €OnNFLY® CONNFLY ELECTRONIC CO., LTD
1 I 2 f 3 I 4 [ 5 6 I 7 I 8
1 1 2 | 3 1 4 [ 5 | 6 | 7 | 8
- REV. DESCRIPTION DRAWN CHECKED APPROVED
: A | NEW RELEASE LJH 10/26/05" ~ LJC 10/26/05’
[ I:EM ::ARSTTICNA:(SOD OzU SEE Z%ES C [ wmuhmige YCH 07/18/08' ~ LJC 07/18/08'
,ﬁ [ | Long BoLT 2 | #4-40 D | Mg in YCH 05/20/10' ~ LJC 05/20/10’
Z| SHORT BOLT 2 | #4-40 E_|ADD P/N CODE LIC 12/24/13 ~ LIC 12/24/13
3 NUT 2 I v3 G _|ADD LOGO JLZ 12/17/14’ ~
i ! o LONGRSGREW 2 s TOT:cidwures are all Nickel plated.
' 63.5 | 5 SMALL WASHER | 2 2. PART NUMBER CODE:
69.3 d SHORE SCREW 2 ] R 111 xLHaad Materials ®
7 | METAL WASHER | 2 | M3 2 Somiar aBs
Washer type
1: Metol
} Bolt type
L: Long
S: Short
2 Packing type
1: Mix packing
137 2: Separation packing
\ 0 Q: Full packing
, uNCA4—40 T b P
L————Cover Color
® ConnELY —-E T B Btk
| i Ivory
—| 7Posmon_
3 o 37: 37pin

© o Short BoLT

LONG SCREW
48
5

Z
13.7 4-40 UNC
e P =
i L SMALL WASHER

6
135 27
305 -
44 I
Long BOLT

SHORT SCREW

o
£3.98
243

GENERAL TOLERANCE] ANGLE TOLERANCE | PROJECTION @43 TITLE | D-SUB Plastic Hood 180°

X. +0.60 X +5 UNITS mm 37 Positions

X +0.38 X x3 SHEET_SIZE A4 | SERIES [ DS1045 SERIES

XX £0.25 XX £

N
DRAWING TYPE|COSTOMER @ )1% ;;]SJ EE‘ ? ﬁ IZE /A\\ a
SCALE 1:1 [SHEET [ 1 OF 1
ORAWING No—E-DST045-37050—x—G| connFLY® CONNFLY ELECTRONIC CO., LTD
1 T 5 T 3 T 4 [ 5 B T 7 T 8




1 | 2 | 4 S | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A | NEW RELEASE YCH 05/24/11' ~ LIC_ 05/24/11"
B [ ADD P/N CODE LIC  12/24/13 ~ LC  12/24/13
C | Arrange Drawing JLZ 10/09/14’ ~ LC 10/09/14’
69.50 D |ADD LOGO JLZ 12/17/14 ~
NOTES: B
1. Hordwares are all Nickel plated.
2. PART NUMBER CODE:
DS1045 — 50 X X X — X
LHood Materiols® —
A: ABS
8: Similar ABS
1 Packing type
1: Mix packi
Lo 280 \ G R s |C
. . o \ TR
\ 8: Black
CONNFLY. Cover Materiol
P: Plastic(ABS)
:l:l_. o L Position
= 50: 50pin D
f § i
3
M3 b g ks
1272 ﬁ} E
NUT  t=2.3mm
S
v/ 3 BOLT —
‘7& & '
=4 o
F
LONG SCREW
s f—
BOM LIST @
ITEM | PART NAME Q'ty NOTES LONG SCREW 10 WASHER G
1 | PLASTIC HOOD | 2 | SEE P/N
oo 2 TR GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION | @ —CF [ TITLE] D.508 Placiit Hood 160°
3 NUT 2 M3 X +0.60 X +5 UNITS mm 50 Positions |
4 | M3*10 SCREW | 2 | M3 X +0.38 X +3 SHEET SIZE A4 SERIES [ DS1045 SERIES
5 | M3*12 SCREW 2 |wm3 XX £0.25 XX X2 .
6 | BIC WASHER 2 | ws DRAWING TYPE [CUSTOMER JT—% ﬁﬂ EE % ﬁ‘ IZE AN a
SCALE 11 [SHEET [1 OF 1 . 4 H
ORAWING No— To=0ST045—5000xp | CconnFLy® CONNFLY ELECTRONIC CO., LTD

4

[ 5

6

I 7

I 8




